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Worksheet -8 Subject: - Mathematics Class: - VII Teacher: - Ms. Neeru
Name: Class & Sec: Roll No. Date: 28.04.2020
Exercise 1.3
1. Find each of the following products:
(a) 3 x(-1) (b) (1) =225
(c) (=21)x(=30) (d) (=316)x(-1) !
(e) (—=15)x0x(-18) (f) —12)x(11) =< (10) -
@ 9x(3)x(-6) (h) (-18)x(-5)x(—4)
@ (1)x(-2)x(-3)x4 () (-3) x(=6) x(=2) x (1)

2. Venfythe following:
(@ I8x[7+(3)]=[18x7]+][18x(-3)]
(b) (2D x[(-=4)+(=6)]=[(-21) x (—=4)] + [(-21) x (- 6)]
3. () Forany integera,whatis(—1) x aequal to?
(i) Determine the integer whose product with (1) is
(a) -22 (b)y 37 (c) O

4. Starting from (1) x 5, write various products showing some pattern to show
) x1)=1.

5. Find the product, using suitable properties:

(a) 26 x(—48) + (—48) x (-36) (b) 8 x53 x(-125)
(c) 15 x(-25)x(—4)x(10) (d) (-41)x102

(e) 625 x(-35)+(—625) x65 (f) 7x(50-2)

@ (-17) x (-29) (h) (-57) x(-19) +57

6. A certain freezing process requires that room temperature be lowered from 40°C at
the rate of 5°C every hour. What will be the room temperature 10 hours after the

process begins?

7. Inaclasstest containing 10 questions, 5 marks are awarded for every correct answer
and (—2) marks are awarded for every incorrect answer and 0 for questions not
attempted.

() Mohan gets four correct and six incorrect answers. What is his score?
(i) Reshma gets five correct answers and five incorrect answers, what is her score?

(in) Heena gets two correct and five incorrect answers out of seven questions she
attempts. What is her score?

8. A cementcompany eams a profit of Rs 8 per bag of white cement sold and aloss of
Rs 5 per bag of grey cement sold.

(a) The company sells 3,000 bags of white cement and 5,000 bags of grey cement
in amonth. What is its profit or loss?
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Ex13,2 teackoo con Ex13,2
Verify the following: Verify the following:
(a) 18x[7+(-3)]=[18x 7] + [18 x {-3)] (b) (-21) x [(— &) + {~ 6)] = [(-21) x (- 4)] + [(-21) x (- 6)]
18x[7+(-3)]=[18x 7]+ [18 x (-3)] s RMS
o . 20 x[-9)+ -6)] |  [(-21) % (- 4)) + [(-21) x (- 6)]
18 x [7 + (=3)] [18x 7] + [18 x {(-3)] =21 x [-4 -6] =[21x4]+ [21x6]
e s  i» =-21x-[4+6] 21 21
=18x4 3 x7 x3 =—21x-10 x4 LG
=72 18 126 Sa 84 126
xa _— — =21x10 — —
Z% =126-54 {;’5 =210 =84+126 11
- S4
=72 —57 =210 b
210
Soce S =R Since LHS = RHS
Honcaverified Hence verified
R Ex1.3,3 ' - . _ Ex13,4
{i) For any integer o, what is {~1} x o equal to? (O aTmnE N AP R A Starting from (~1) x 5, write various products showing some
(8)-22 {B)37 (90
pattern to show {-1) x (-1} = L
-1x3 (a) =-1x__=-22
z-3 “1%x22=-22
So, answer is 22 1x5=5 ~
“1x4=-4
b) -ix__ =37
R Ax3=-3
-1x-37=37
i ~1x2=-2
'y -37 . “
So, answer is >. Thisis owr
-1x1=-1
fc) -1x__=0
-1x0=0
-1x0=0
So, answer is 0 ~1x-1=1 »
Ex1.3,5 Ex1.3,5

Find the product, using suitable properties:
(a) 26 < (— 48) + (—48) x (—-36)

Find the product, using suitable properties:
(b) 8 x 53 x (~125)
26 x (—48) + (—48) x (—-36)

8 x 53 x (-125)
Taking (—48) common

= (-48) x [26 + (-36)] =53 % (-125x8) founll
= (—-48) x [26 — 36] 24 We multiply 125 & 8
125 8=4
= (—48) x —[-26 + 36] x 8 as5x8=40
= (-48) x -10
= ~53000



Ex13,5

Find the product, using suitable properties:
(c) 15 x {=25) x (- 4} x (-10)

Ex1.3,5

Find the product, using suitable properties;

(d) (—41) x 102
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Ex13,5
Find the product, using suitable properties:
(e} 625 x {-35) + (- 625) x 65

625 x (-35) + (- 625) x 65

(-41) x 102 =625 x (-35) + 625 x {-65)
15 x(-25) x (-4) x {-10) = (~41) x (100 + 2) Taking 625 common
=15x[(-25) x {-4}] x (-10) ‘Rough = (~41) x 100 + (~41) x 2 =625  [(-35) + (~65)]
=15 % [25 x 4] x (-10) We muitiply 25 & 4 =-4100-82 :Z:::Z::::
el 05 25x4=100 = - (4100 + 82) D
= 45000 ends with 0 = -4182 =250
b it :n::: product, using suitable properties:
Find the product, using suitable properties: Find the product, using suitable properties: () £-57) % 190+ 57
{f) 7% (50-2) (8} (<17) x {~29)
(-57) x (-19) + 57
7%(50-2) ) =57x19+57
=7x50-7%2 AR Taking 57 common
=7x5x10-14 =17x(30-1) =57x(19+1)
=350-14 3;:6 THAR =R =R 1
-_14 =510-17 =57x2x10 5
=33 33 408 =114x10 ’1‘1:

=1140




